Through bolt anchor for heavy loads in non-cracked concrete

o "‘_

_] =y | D i

== 1=

il y

- oo a

4
AFPLICATION MODE
=T fp
—
N N N
covE WETHC e DaLE soweoermmn MESERAE ppmenronx WLERCIN  nommsenimomss oruemng MELDSTCE MICDETRACE nstuuanon ey @-L%E%\g N@E%?@EEDB AXIX LETTER
AHOE(ED M6 BG & L) 100 ki 50 2 7 &0 120 10 365 297 B
AHOBOT0 ME 70 E 5% 100 7 50 12 7 &0 120 10 385 297 €
AHDGOBO M6 RO 6 55 108 T 50 Pk 7 B0 120 10 385 297 B
AHOGDS0 i 80 ] 55 100 7 50 32 ] Bl 120 10 385 297 E
AHOGT00 M6 100 & 55 100 7 50 42 7 60 120 10 365 297 7
AHOB110 M 10 ] 55 100 7 50 52 7 Bl 120 10 385 287 F
AH0GT20 M6 120 6 5% 108 T 50 62 7 60 120 10 385 297 G
AHUBDED ME G0 ] 50 100 8 50 3 20 L= 105 13 485 e B
AHOB075 ME 75 B 65 i g 60 & 20 T Ta4 13 E76 T4 =
AHOBO80 M8 9 | 65 100 9 B0 20 20 2 144 13 Bib 542 E
AHOE100 M8 1on B 65 1 g 0 30 20 T Tdd 13 B76 542 E
AHOB115 M8 15 | 65 100 S B0 45 20 T2 144 13 B76 42 G
AHOB120 M 120 B 65 i1 g 60 50 20 T 144 13 B76 542 G
AHOBT30 & 130 | 65 100 9 Bh &0 10 T 144 13 Bib 542 H
AHO8155 M8 155 8 65 100 L] GO BS 20 72 144 13 B76 542 ]
AH10070 M0 Fi ] 60 100 12 54 3 35 Gl 120 17 Bo7 667 C
AH10080 Mo BO 10 B0 100 12 54 13 35 63 126 17 57 667 (v}
LH10090 M10 1] 10 ] 1o 12 67 10 35 83 165 17 856 E
AH10100 Mo 100 1o 5 110 12 67 20 35 83 165 17 BSG E
AH10120 M0 120 10 =] 1o 12 67 40 35 a3 165 17 856 G
AHT0T40 M10 140 10 (4] 110 12 67 60 35 B3 165 17 922 BS6 H
AHI0150 M0 150 i 15 110 12 &7 Kt} 35 83 165 17 22 856 I
AHT0160 M10 160 10 75 1o 12 67 80 35 3 169 17 922 BS6 i
AHI0T70 Mo 170 g 75 110 12 &7 90 35 # 165 17 a2 856 K
AH10210 M0 210 10 ] 110 12 67 130 35 B3 165 17 922 BS6 N
AHIG230 M0 230 ia 15 110 12 &7 150 35 83 165 7 22 856 P
AH12050 M1z 90 12 Fii] 100 14 60 13 60 50 175 19 BRT 867 E
AH12700 M1z 100 12 85 130 14 7 g B0 75 150 18 1285 o0 E
AHIZ110 MI2 110 12 85 130 14 77 18 60 495 195 19 1285 200 F
AH12120 Miz2 120 12 85 130 14 i 28 Bl a8 195 18 1285 G
AH12130 M1z 120 12 a5 130 14 77 35 60 95 195 19 1285 1200 H
AHY2140 M1z 140 12 85 130 4 77 45 B0 ag 195 18 1285 o0 H
AHI2160 M2 160 iz (5] 130 14 i B8 B0 a8 145 ] 1285 1200 |
AH12180 Mi2 180 12 a5 130 14 77 il &0 a8 185 19 1285 1200 L
AHYZZ00 M2 200 iz 85 130 14 T 108 80 a8 1485 19 7285 1200 M
AH12220 M2 220 12 5 130 14 7 128 B0 ag 195 19 1285 1200 o
AH1IZ50 M2 250 iz 5] 130 14 ir 15 B0 a8 145 K] 1285 1200 Q
AH14120 M4 120 14 100 150 18 a1 12 an 235 22 1592 1637 G
AH14145 M14 145 14 100 150 16 L] 37 an 235 22 1592 1837 I
AH12170 M1a 170 14 100 150 16 91 62 a0 175 2 1592 1637 K
AH14220 M4 220 14 100 150 16 - 112 90 113 235 22 15%2 a
AH14250 M14 250 1 100 150 1 7 Y42 a0 113 275 22 1592 a
AHIB125 Mig 125 16 1] 168 8 04 3 120 126 252 24 1887 G
AH16145 M16 145 16 110 168 18 104 3 120 126 152 4 1887

AHIETT0 Mi& 170 16 1o 168 18 104 45 124 126 252 24 1887 e




TECHMICAL INEORMATION

TENGIONAOAD  SHEAR L0AD

cove METAIC e DaLa HOLE DEPTH ML “W DELEMENTTO X “*ng;m_““ ML FXTUAE THICKNESS  TORQUE (NM) 'mﬁf’j,‘f ,‘4&“;‘%"“ |mmmmmnmma AXIX LETTER
AH16220 M16 220 16 110 168 18 104 ae 120 126 252 24 188? 223? 0
AH16250 Mig 250 16 110 168 18 104 128 120 126 252 24 887 2337 q
AH162E0 M1& 280 16 110 1R8 18 104 158 120 126 Pyl 24 1887 2237 8
AH20170 M20 170 20 135 106 £ 125 B 20 158 308 30 562 3278 K
‘AH20220 MZ0 220 20 135 206 n 125 73 240 155 309 30 2562 3279 o
AH20270 M20 270 2 13 206 23 125 122 20 155 308 30 ism2 128 5

o e e s s "SI scoaro oo MU o AEAE MO o R BAGE smicra
MIAAOBO4S  MBx 45 ME 45 & 35 100 7 £ 1 7 a0 75 0 ElG 78 A
MIAS06O60 B x 60 ME 60 6 50 100 7 435 2 7 50 120 10 438 287 B
MIA406080.  MBxBO B 80 & 50 100 7 435 2 7 & 120 10 a8 @ o
MIASDBOSD M8 x50 M8 50 ] L 100 g 35 4 20 4 b 13 275 b3} A,
MIAQUBOTS  MB4TS M8 75 B 60 100 g 595 5 20 b 144 13 S8z 5; =
MIAGDB030 M3 x90 M8 90 B 0 100 g 595 20 20 7 144 13 582 522 E
MIAAOBITS MBS M8 ns: & 6 100 ] 595 25 70 b7, 144 13 S8z BE2 &
MIA410070 WM10x 70 Mo 70 0 54 100 12 535 L ! 35 & 120 17 485 BA7 &
MIA410090  Mi0x80 M0 5 10 57 110 12 665 10 ES & 165 7 647 834 D
Mia410120 MI0x 120 mio 120 m 57 110 12 66,5 4_D =21 B3 165 17 647 ‘834 G:
MIAS10150  MI0x150  MID 150 10 74 1o 12 665 70 £ x| 165 17 647§ |
MIA412075 Mi2x 75 M2 FL] 12 55 100 14 55 5 i} (] 130 i3 ¥y ROy G
MIA412090  M12x80 M2 7 12 62 100 14 13 0 Y 75 19 67§61 D
MIAS12110  MIZx 110 Miz 110 12 7 130 4 7 12 B0 o8 195 12 1011 1207 E
MIAd1Z140  MIZx146  ME2 46 12 77 1200 14 7 2 &0 98 185 19 w1207 |
MIA416080 M16 %80 Mig 90 16 69 100 18 69 g 120 78 150 24 701 8d1 1]
MIad16145  MiBx145  Mia 145 16 104 168 18 035 EE] 120 126 351 24 Mp 156 i
MIAS16170 MG X 170 Mig 170 16 104 168 18 1035 48 120 126 252 24 1416 2256 K
MIA4Z0120  MZOx126  M20 126 ) 93 145 n %3 5 280 1o a5 VIR . B - G
MiAd20170 20 x 170 w20 170 20 115 206 22 125 23 240 155 309 30 2023 3521 K
MIA420220  MAZ0OX226 W20 220 o1 125 206 b5} 125 73 240 155 308 T T > R 11 [+}
MTH-A2 Staliless stedlAZ Option 7 ETA Asseagud AZ Stulnless el

cane e eriic i oo voiogerin, MO oeinror o cienormi PELTEURE ey MILOSTME MELOSTUCE m%% AXRLETTER
MIOB045 b % 45 M6 45 6 ag 100 7 15 1 7 44 i 10 306 1287 A
MIn6060 ME % 60 ME 60 B 55 100 i 50 1 3 &0 120 10 43§ 287 B
MIOGD80 M8 » 80 WM& 80 6 55 100 7 50 22 7 60 120 10 438 287 B
Mios120 ME %120 ME 120 i 55 100 7 50 &2 ) &0 120 10 43§ 287 G
MIOG140 W6 x 140 [ 140 6 55 100 7 50 8 7 60 120 10 438 287 |
Mio&tsn ME x 160 ME 160 B 55 100 i 50 102 3 &0 120 10 438 287 J
MiCaos0 M8 150 M8 50 8 40 100 g ) 4 0 46 ™ 13 2 m A
MID8075 ME % 75 M8 75 B 65 100 9 B0 5 20 72 144 13 582 522 €
RUIGEDEDS 18 % 90 M8 %0 B 85 100 9 i 20 20 72 144 13 58 523 E
MIo8115 MBx 115 Ma 115 8 (] 100 9 B0 A5 20 72 144 13 582 522 [c1
Mioo70 Mox70 Mio kil 10 60 100 iz 5 - i 60 120 17 85 667 c
MInooso MI0x 80 Mo L 10 75 110 12 B7 10 35 83 165 17 B47 834 D
Mig120 Miox126 Mo 26 10 75 16 12 67 an 35 & 165 17 847 8 G
MIT0150 M10 % 150 Min 150 10 75 110 12 67 0 35 B3 165 17 647 Bi4 1
MI12075 Mi2x7s MR 3 12 6 100 14 55 5 &0 65 130 19 576 591 c
MiT2090 M12%80 Mi2 20 12 0 120 14 b2 13 i a0 175 19 647 B&7 o
Min2ito Mizxie M2 110 12 85 130 14 o 18 &0 94 195 19 w1247 F
Mi12140 M12 x 140 Mz 140 12 85 130 4 T7 A8 (i} a8 195 19 o1 1207 1
MIE090 M6 x50 Mis % 16 ] 100 1% 69 4 e 75 150 24 701 s o
MIT6145 Mi6x 145 Mi6 145 16 11a 168 & 104 3 120 126 257 74 1416 2756 1
MI16170 MIBx 170 MiG 170 16 1o 168 18 104 48 120 126 5 24 1416 256 K
Mizo1zo M20:x 120 MZD 120 20 105 145 22 %% 5 240 1 225 30 1222 2933 G
MI0170  MIOx 170 M0 170 2 135 206 53] 125 51 ] 240 155 309 0 wE s K
Mizo220 M20 x 220 M20 120 20 135 206 22 125 73 240 155 309 30 2023 3521 a



Through bolt anchor for heavy loads

]
. A .
4 a
.
ii=culhE:
= 1=0
e 1 ;
a
T Pragir . =
2
APRUICATINMODE
=T
)
N . N
cove ML METRIC LesiGTH DALLO  WOLEDEPTH ML, M”ﬁ-j&?g;‘“ ounenrron M ciorper M EETEE  qaquery M DISTARCE MELDISIAIEE RTALLITION Tuzgg?gétwg r%%a
AMUE045 ME x 45 ME& 45 (-} 40 100 7 35 | T 40 5 10 306 287
AMOG05S Mbx 55 Mb 5% 3 0 100 7 35 il 7 40 5 10 306 247
AMOBDED ME % G0 ME G0 [ 55 100 7 50 2 7 &0 120 10 385 297
AMOG0ES M6 x 65 M6 65 B 55 10 7 50 7 7 6l 120 10 385 297
AMOSOTD Mex 70 Mé T B 55 100 7 50 12 7 &0 120 10 385 257
AMOG080 MG x 80 M &0 6 55 100 7 50 22 7 &0 120 10 385 297
AMOG0ES MéE x 85 ME 83 (-} 55 100 7 50 a7 T &6 120 0 385 297
AMOE0S0 M6 x 90 ME g0 6 55 100 [} 50 32 7 60 120 10 385 297
AMODE 100 MG % 100 ME 100 [ 55 100 7 50 42 7 &0 120 §1] 385 297
AMODETI0 ME 110 ME 110 B 5% 100 [} 50 52 7 6o 120 10 385 297
AMOGT20 Max 120 Mé 120 B 55 100 7 50 a2 7 &0 120 10 385 297
AMDE130 MG x 130 ME 130 G 55 100 7 50 72 7 60 120 10 385
AMOE140 ME x140 ME 140 & 55 100 7 50 82 7 i 120 19 385
AMOS150 W&z 150 Mé 150 B 55 100 [ 50 92 7 60 120 10 385
AMOGT60 MG % 160 MBE 160 6 55 100 T 50 102 T B0 120 10 385
AMOB17D ME %170 ME 170 & 55 100 7 50 112 7 60 120 10 385 297
AMOG1BO &« 180 Mb 14:11] B 55 100 T 50 F22 T o0 20 10 385 297
AMOBOS50 M8 x 50 Ma 50 B 40 100 9 s q 20 a0 75 13 270 27
AMDBBDED M2 x 6D M2 B0 g 5 100 a 47 20 53 105 B AR5 508
AMDEDES Mi x 63 M&E 63 B 50 100 g 47 a 20 53 106 13 485 506
AMOBOTS MEx 75 Ma 75 B 65 100 9 B0 5 20 72 1 13 676
AMOBOSD M8 x 90 M2 90 8 65 100 9 &0 20 0 72 144 13 676
AMDETTS MEx 115 Ma 13 8 65 100 3 B0 45 20 72z 144 | (745
AMODB120 M8 x 120 Ma 120 B 65 100 9 B0 50 i} 72 144 13 676
AMOBI30 M8 130 Ma 130 g 65 160 | 6l B0 20 [ 144 B3 B7E
AMDE155 M8 x 155 ME 155 8 B5 100 g 60 85 20 144 13 (7,
AM10065 M0 x 65 M10 G5 10 55 100 12 52 | 35 120 17 620
AM10070 Mi0x 70 Mo Fit] 10 B0 100 12 54 3 15 125 17 BB7
AM100BD M0 x:80 Mi0 B0 10 60 100 12 54 3 35 175 17 BBT
AM10090 M0 x i M0 ag 10 75 110 12 &7 1o 35 165 17 nz2
AmMio0t00 M0 100 M0 100 190 75 110 12 &7 20 35 165 ¥ 912
AM10120 110 x 720 M0 128 10 75 110 12 B7 40 35 a3 165 17 8z
AM10140 M0 140 Mo 140 10 75 110 12 67 B0 15 g 165 & L Pl
AM10150 M0 % 150 Mo 158 10 i 110 12 a7 T 35 83 165 17 a3
AM10160 M0 % 160 Mo 166 10 75 10 12 B7 30 35 83 165 17 72
AM1DT70 Midx 170 Mo 170 10 10 12 a7 a0 35 a3 165 17 L2l
AM10210 MI0 % 210 M0 210 19 110 12 &7 130 35 83 165 7 | P2
AM10230 M10x 230 M10 130 10 7 110 12 B7 150 35 &3 165 17 L
AM12075 M2 b 12 60 100 14 55 5 &0 65 130 19 691
AM12080 M2 80 17} 100 14 3 ] 75 150 9 B&7
AM1Z090 M1z a0 2 70 100 14 13 &0 75 150 1 67
AnMizi100 M12 % 100 M2 180 12 a5 130 14 8 B0 98 195 19 138
AM12110 MI2Zx 710 12 110 12 85 130 14 ar 18 ] 98 145 9 128
AM12120 12 % 120 M1z 128 12 85 130 14 77 28 B0 98 1495 19 T2B5
AMIZ140 M12.x 140 M2 140 12 85 130 14 ¥ 48 B0 98 195 19 1285
AM12160 MI2Z % 160 M2 180 173 a5 130 14 T 68 6D a8 y45 19 1285
AM12180 M2 % 180 M1z 180 12 85 130 14 7 28 (=] a8 185 19 1285
AMI2220  MIZx20 0 W12 220 12 a5 130 14 T 128 80 9 195 13 128




CODE

AM12250
AM14080
AM14100
AM14120
AM18145
AMI4170
AM14220
AM14250
AM16090
AM1BT10
AM16125
AM16145
AM1BI70
AM16220
AM16250
AM16280
AMID120
AM20170
AM20220
AMEDZ70
AN24180
AMZ24260

ML

M12 k250
M14 80
M4 x 100
M1 % 120
M14 % 145
M4 % 170
M1 229
M4 x 250
16 x 90
Miax 110
MIE %125
116 % 145
M1 170

M16 % 220

M1 x 250
Mi6 280
M20x 120
W20 % 170
Many 220
M2d x 270
124 % 180
M24 x 260

LENGTH

250
&0
100
120
145
178
220

250

110
125
145
178
220
250
280
120
178
224
20

Y
260

DALLD

=gl ~gl |

TENSION IOAT  SHEAA1OAD

HOLE DEFTH 1AL M'%j'ﬁ'ﬂ'ﬂsm oeomeron mncoroe  OLEEIAE  opguppny . MINDISANCE MILDISAKCE - NSTALLTION NO CRACIED O UENED
85 130 14 17 158 B0 98 195 19 1285 1200
65 100 16 53 5 98 &5 22 &67
85 16 69 5 90 5 190 22 1637
100 b a1 12 a0 13 225 2 1637
104 16 9 37 i1} 13 35 i 1637
100 16 1 Bz 90 113 12 1637
100 150 16 o 112 ie) 113 22 1637
100 16 9 142 90 113 22 1637
75 18 ] 4 120 75 24 4]
75 18 69 7 10 st 24 15482
1o 18 104 3 120 126 24 237
110 18 104 120 126 24 2237
110 18 104 120 126 24 7237
110 18 104 120 126 24 1237
110 18 104 120 126 24 3
110 18 104 120 126 24 2237
105 22 240 10 i0 2933
135 22 125 240 155 30 3279
135 2 128 FE 240 155 30 3279
135 123 240 155 3 3278
155 26 10 250 200 36 453
155 250 26 80 250 200 36 4934

#N - o,
|G VITRTNRERNENS) ) </

" : N, '!? X v q|

\\\: - - b il %3 . |

=
; TERSIONLOAD. SHERR LOAD
cone WETHIC BT RLE Hoepermme MISSUOSTRNE gppapror MILACHOR g mnemioiess osauE gy PINCDISTANCE ML OWTANEE coai amon ey OU1ERE OF HO 0D O TAD
THPANDTOS50 75 50 [ 13 100 9 i3 17 20 45 45 T40 15 173 219
T TERSIONLOAD SHERR LDAD
conE WETREC LENGTH DRALG socosmm MRSTRIE g aeneriome MIACHOR wacsuneticness tosoueqay tDEPNCE MIEDISRACE nevmuanonker e OF NOLLRACHED NN CRACKED
THTRUO7050 75 50 & 43 100 ) 33 17 20 a5 45 T30 ] 173 219
i, [ WDl N DSTING TENSIONT0AD SHEARLOAD TENSIONLOAD SHEAS LOAD
caoe o METIC LEnGTH ohate MOERFTH omemare 0SB g ancioromme FTURE - TonQuE ) DiSTARCETD - momaxis oo CUTERS OF pgw concuen NONCRACKED | CRACKED  CRACHED
THICKIRESS THCINESS £DGE 8" CONCAETE  (ONCRETE  CONCRETE  CONCRETE
THDEX0G030 Gx30 [ 30 5 40 100 7 2 7 a5 8 63 110 172
THDEXDG040 6xdd 1] 40 5 40 160 7 12 7 45 8 63 1o 172
THDEXD6050 Bx S0 B 50 5 55 100 7 5 7 45 B 6,3
THDEXDGUG) [ &0 5 35 160 7 15 7 45 45 8 6,3
THDEXO7035 1.3x 35 7 5 B 43 100 q 2 20 15 15 1] F P
THDEXOTO45 75445 1 45 (7] 43 100 9 12 20 45 45 10 F
THDEXD7060 7.5 %60 7 G0 5 B5 100 9 5 20 63 126 10 i 437
THDEXO7080 1.5 80 7 80 B 65 o0 9 15 0 63 126 1] T 437
THDEXO71000 75% 100 4 100 6 65 100 9 45 20 63 126 10 7.5 437
THDEX10055 10 155 10 55 B B0 o0 12 5 50 50 50 13 10,5
THDEX10065 10,0 % 65 10 65 8 70 [i¥] 12 5 50 67 135 i3 105
THDEX10075  10,0x75 10 75 a 70 100 12 15 50 67 138 13 10,5
THDEX10090 10,0 x90 10 a0 B 70 100 12 60 30 50 &7 135 13 10,5




